
















Using Patterns and Formulas Assignment

(a)2- (7)
2 51×2-16) (8×12 _ (3y)2

(A)2- (B)2=(A-B)(ATB) 56×12-(4)2) A2 - B- → (A-B)(A-+B)
(8×-34)(8×+34)

(x-7)(✗+7) A2 - B2→(A-B)(ATB)
51×-411×+4)

(Zx)
≥
- (9)2

(x2) - (4)
2

- (✗2- 25)A2 - 132 → (A-B)(A-+B)
(2×-9×2×+9) A2 - B2→ (A-B)(ATB)

(✗2-4)1×2+4)
-

- (5)2)
6×5-(2511×44) A2 - B2→(A-B)(A-+B)

☒& Tx-2)(1/+21×2+4)
- (X-5)(✗+5)

squares
again!

2

(At B)? A2-121-13+132 (At B)2- AHAB -1132
= (2×12+212×113)+ (3)

2 ( A + B)
"
= A

≥
+ZAB +B

"

= (7×12+217×11.pt/-y)2=(-5x)+2fSx)4)-(i)2--49x2-i4xy-y2
= 4×2+12×+9

= 25×2-10×+1

(A + B)2- A-2+21-13+132( A -113)2=Ñt2AB -1132
= (3×3)%26×3)fy)+fy)2

( A + B)" A-2+21-13+132
= (2×2)%212×2>(5×2)+(5×2)

=(✗4)4- 2.(✗4)(2) 1- (2)
2

= -1×4+20×44254"
= 9×6-6×34+42

= ✗8+4×4+4






Use the SUM or DIFFERENCE of Cubes to Expand the following

Challange

G)3+(573 243+27) (2×73 - (1)
3

A3tB3→(AtB)(A2_ ABTB) A
}
- B'→ (A-B)(AHAB-1137

A- 3+133-711-+13>(-12-1-13+132)
→(×-15)((×)2_ (g)(g)+ (g)2)

< ("" + )
(2x-1)(12×12+6×34) -145)

2.(✗+3)(1×5-1×313)-1135) (2x-1)(4×2+2×+1)
→(✗+5)(✗2-5×+25) 21×+3342-3×+9)

•
(3×13 _ (y)

}

218×3-1) (x2) - (y)
A- 3- B3→(A-B)(AHAB-1132) 242×33- (1)3) A

}
_ 133 → (A-B)(-12+1-13+132)

(3×-4)((3×5+(3×74)!( A-3- B3→(A-B)(AHAB-1132) (x:y)((✗72+1×747+47)
(3×-4)(9×2+3*+42) 26×-1>(12×5+12×14)-14)) di%d→fEy)(✗4-1×42+44)

2. (2×-1)(4×2+2×+1) (✗-y)(×≠y)(×
"
-1*42+4

")


